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(11 2246452312043333427243334
[26] 3 753176465247226245451323
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> table(data)
0O 1 2 3 4 5 6 7
1 311 12 10 5 4 4

(000 50 500000060400 ... )
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> hist(data, breaks = seq(-0.5, 9.5, 1))
Histogram of data

| [ DObOooodooooodd
oooo o ooo!

10

Frequency
4 EIS 8

-

I T T T 1
0 2 4 6 8
data

kubostat2013oul (http://goo.gl/RrHZeY) 00000 (CD)ooDo (1) 2013-08-27 17 /77


http://goo.gl/RrHZeY

O0: 00000000000 ROOOOOOOOOOOOO

dooooooognd

gboobooug bbod bbbuoooobboag:-gobobob

> var(data)

[1] 2.9861

000000 000000 O0O0Og0 (SD = y/variance)

S sd(data) ~ Hlsto_gram of data
o 0oooooO
[1] 1.7280 - 00000000: 000000

8
I

gbobobobo:-0oo0oooon
> sqrt(var(data))

[1] 1.7280

Frequency
$ 6

2
1

0
1

data
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OO00O0b0 ROOOODOODO

>y <= 0:9
> prob <- dpois(y, lambda =

# OO000O00 @ooo)
# 0000000000000
> # cbind 000000

3.56)
> plot(y, prob, type = "b", 1lty = 2)

> cbind(y, prob)

% o o OO0 (A)O|356000 y prob
| ! "\, Poisson disfribution 1 0 0.02843882
2. Y 2 1 0.10124222
e \b 3 2 0.18021114
| . 4 3 0.21385056
O\\O 5 4 0.19032700
S : : : o 6 5 0.13551282
2 4V 6 8 7 6 0.08040427
8 7 0.04089132
9 8 0.01819664
10 9 0.00719778
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> hist(data, seq(-0.5, 8.5, 0.5)) # J0D00000OODOOO

> lines(y, prob, type = "b", 1ty = 2) # 000000000 OOO
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Paramter )\, the mean of Poisson distribution

> # cbind DOOO0OO
- S > cbind(y, prob)

0.20
o

prob
.02843882
.10124222
.18021114
.21385056
.19032700
.13551282
.08040427
.04089132
.01819664
.00719778

Il
~

prob
0.‘10
0.

0.00
]
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L\ = (WO 200000)x (30 200000)
XX (yso0 300000)

= p(yi [ A) X p(y2 [ A) X plys [ A) x -+ X p(yso | A)

ol | VARV HAyeX—p(_A)

;!

gbooboooobbb sgogooboood

{y1, v, y3} =12, 2, 4}000000000000000000
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likelihood function) 0 O O
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kubostat2013oul (http

e lambda = 2.0
IOO\ logL=-121.9
I

lambda = 2.4
O logL=-109.4
,

lambda = 2.8

log L = -102.0
[0} o9

B lambda = 3.2
“logL = -98.2
o)

lambda = 3.6
logL=-97.3
o

lambda = 4.0
logL=-985

o

2 lambda = 4.4

lambda = 4.8

lambda = 5.2
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0000 logL(A\) =, (yilogh — A ="V logk)

-100
1 | 1

log likelihood
110

-1|20

2!0 2!5 3!0 3!5 4!0 4!5 5!0
o« UO0DOO0OO (ML estimator): >, v;/50
« 00000 (ML estimate): A =3.56 000
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g
e OO0 (fi =C): 50 sample (i € {1,2,---50})
e JODOD (f;=T): 50 sample (i € {51,52,---100})

kubostat2013oul (http://goo.gl/RrHZeY) 00000 (CD)ooD (1) 2013-08-27

a4 /77


http://goo.gl/RrHZeY

: 0oooo ooooooooooo DODO00D0D0000000O00O0O0OOoOoOoooogv?

oooobooouoood

ooooo
'@\) data frame d O 0O O
data3a.csv 0 CSV (comma separated > d
value) format file DO OOROOOO y x f
goooooooood: 1 6 8.31 C
2 6 9.44 C
> d <- read.csv("data3a.csv") 3 6 9.50 C
0000 d0000000 data frame - HHEH
(000000D000)000000 9 7 10.86 T
100 9 9.97 T
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O0: 0000000000000000 DODO00D0D0000000O00O0O0OOoOoOoooogv?

data frame d 0 0O 0 0O : d$x, d$y

> d$x
[1] 8.31 9.44 9.50 9.07 10.16
[9] 9.93 10.43 10.36 10.15 10.92
..ggoogao...
[97] 8.52 10.24 10.86 9.97

> d$y
[1] 6 6 61210 4 9 9 9 11
[17] 3 8 5 5 411 510 6 6
..0gogo...
(971 6 8 7 9

kubostat2013oul (http://goo.gl/RrHZeY) 00000 (CD)ooDo (1)

8.32 10.61 10.06
8.856 9.42 11.11

6 10 6 10 11 8
7 9 310 2 9
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data frame d OO 0O 0: d$f — factor type!

gbobogobooooobo fboboboboooboon

> d$f
[f]ccccccececececececececececceccecceccecceccecceccc
[261 Cccccccccccecceccececcececceccecceccecceccecceccec
B ] TTTTTTTTTTTTTTTTTTTTTTTTT
[76] TTTTTTTTTTTTTTTTTTTTTTTTT
Levels: C T

gooood:-boboobboobboon
gbobocoTtD 200
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O0: 0000000000000000 DODO00D0D0000000O00O0O0OOoOoOoooogv?

ROODODODODODOOOOOO

> class(d) # d 0 data.frame 00O

[1] "data.frame"

> class(d$y) # y OO UODOOO integer OO O

[1] "integer"

> class(d$x) # x U0 DOUOOO0OOOO numeric OO
[1] "numeric"

> class(d$f) # OO0 f OO factor OOO

[1] "factor"
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O0: 0000000000000000 DODO00D0D0000000O00O0O0OOoOoOoooogv?

data frame [0 summary ()

> summary (d)
y X f

Min. : 2.00 Min. : 7.190 C:50
1st Qu.: 6.00 1st Qu.: 9.428 T:50
Median : 8.00 Median :10.155

Mean : 7.83 Mean :10.089

3rd Qu.:10.00 3rd Qu.:10.685

Max. :15.00 Max. :12.400
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O0: 0000000000000000 DODO00D0D0000000O00O0O0OOoOoOoooogv?

Oo0oooooooooo!

> plot(d$x, d$y, pch = c(21, 19) [d$£f])

> legend("topleft", legend = c("C", "T"), pch = c(21, 19))
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> plot(d$f, d$y)
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glm() O OO0OO

> d

y x £
1 6 8.31 C
2 6 9.44 C
3 6 9.50 C
L.ggoo...
99 7 10.86 T

100 9 9.97 T

OOoo0On0 OK!
> fit <- glm(y ~ x, data = d, family = poisson)
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glm() DOOOOOOO
EREBNT AT b EF)L

fit <- glﬁ( HEE
y ~ Xy
family = poission(link = "log")
data = d

data.frame DIEE

e 000U (DDODOOUO z:00D0D0OCODOOOOY
e link U0: 00000 (y) DOO ODDODODO?
e family: DO ODDOODOOODO?Y
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e family: poisson, U U [ BENHIIRT Y VD
00 I )
7= o, .
e link 00 "log" # | i
e 0000 (0DODODO 2): O ;@A/
000y~ x000000 ; o
0o
o 00000 2=0 + Bz LRS-

4,5 000000000000

000000000 AX0000 log(\) ==

000 XA=exp(z) =exp(fr + o)

o 0000 OO0 ANODDOOODOOOOO: y~ Pois(\)
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glm() ODOOO0O —{,5}00000000

> fit <- glm(y ~ x, data = d, family = poisson)

all: glm(formula = y ~ x, family = poisson, data = d)

Coefficients:
(Intercept) X
1.2917 0.0757

Degrees of Freedom: 99 Total (i.e. Null); 98 Residual
Null Deviance: 89.5
Residual Deviance: 85 AIC: 475
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glm() 000000000

> summary (fit)
Call:
glm(formula = y ~ x, family = poisson, data = d)

Deviance Residuals:
Min 1Q Median 3Q Max
-2.368 -0.735 -0.177 0.699 2.376

Coefficients:

Estimate Std. Error z value Pr(>lzl|)
(Intercept) 1.2917 0.3637 3.55 0.00038
X 0.0757 0.0356 2.13 0.03358

...... @oooog) ...
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Oooooood O pr(>lzl)

(o (Estimate 0.0757, SE 0.0356)

(Estimateﬂl.QQ, SE 0.364)
1

T T
1.0 1.5

DD[I[ID 2000000 summary(glm()) OO0 Pr(>lzl)
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dooood

> fit <- glm(y ~ x, data = d, family = poisson)

Coefficients:
(Intercept)
1.2917

0.0757

> plot(d$x, d$y, pch = c(21, 19) [d$£f]) # data

> xp <- seq(min(d$x), max(d$x), length = 60) .
> lines(xp, exp(1.2917 + 0.0757 * xp)) ;: .° * o 2
oe ce e
== me O ©®o® °
oooooooooooogoon % o] °

gboooboooboooo

kubostat2013oul (http://goo.gl/RrHZeY)

ce e ee® O6 O oo

o oe® e e

< o ®0 °
o o °

- o
T T T T T

7 8 9 10 11 12
d$x
00000 (CD)ooDo (1) 2013-08-27 70 /77


http://goo.gl/RrHZeY

ooo0ooooooooan ooooo0oooooooo GLM 00000000

.0bgdbtotdbotdoobooootgn
Joogoo

GLIMOOOODDOOOO

gobob +d00oobboooobob

kubostat2013oul (http://goo.gl/RriZeY) 00000 (@O)0o0o (1) 2013-08-27 71 /77


http://goo.gl/RrHZeY

oooooooOoooooad oooooooooooo GLM 00000000

Oooog 0000000

Hif .+ .| 000000 ADDD00000000
e O:“"’ "'c::.,o"'?.j' o A exp(—=N\)
T o o ® ply: [ A) = ol

HEN iDSD AOO0OOooooo
Ai = exp(B1 + Box; + B3d;)
e 300000000 O OO
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glm(y x + £, ...) 00O

> summary(glm(y ~ x + f, data = d, family = poisson))

L.@y. ..
Coefficients:

Estimate Std. Error z value Pr(>|z|)
(Intercept) 1.2631 0.3696 3.42 0.00063
X 0.0801 0.0370 2.16 0.03062
fT -0.0320 0.0744 -0.43 0.66703
...... mooog) ...
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x+ f 000000

> plot(d$x, d$y, pch = c(21, 19)[d$f]) # data

> xp <- seq(min(d$x), max(d$x), length = 100)

> lines(xp, exp(1.2631 + 0.0801 * xp), col = "blue", lwd = 3) # C

> lines(xp, exp(1.2631 + 0.0801 * xp - 0.032), col = "red", lwd = 3) # T

sy
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o fi=0C: )\ =exp(1.26 4+ 0.0801z;)
o fi=T: )\ =exp(1.26 4+ 0.0801x; — 0.032)
— exp(1.26 + 0.0801x;) x exp(—0.032)
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